
 

 

 

  
 

67 .5'�4 ./�23 �01/,� .- ,+* ا��($)'$ت و در�$ت ا�"�ارة ، إ� أن ] أ [ ���� ا����� 
 .ا�A2$ورة �<$ ] ب [ .�دود?�<$ �=4> ;:+�0 .4$ر�9 .8 ا����� 

  
1 - C71> .:$رD 2$دا�Dا����� ا ���EF G:; -D -+و�H). $9�I? �( -+==J ؟ ]أ [ ، أذآ� 

  
 : ]ب [ و أ�Fى .- ا�����   ]أ [ ?=+- ا��Aول �D �1��O �A+�9 P=9$+�5 .- ا�����  - 2

  
 

 
 

 
 

 أ,(9�I. U)9 U$ت آD T+�5 ؟ -أ
  
 ا�����+- ؟  �:2$ل .1W* )�ام ا����� ,�د )�ام�$J -ب
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

ا��.T ب   
g 

ا�'62 ب 
g 

ا�'+- ب 
g 

  4  6  40   ] أ [ D+�5 ا����� 
  10  50  40  ]ب [ D+�5 ا����� 

https://motamadris.ma/


 

 

?:'6 ا��Aول أP10J 49'� ذ��ل 9=�� ا�`:+� و ا��4رة 1D> ا�,�0$ظ �$�2$ء 67 ���$ت  - 3
 :.�01�a ا��4ام 

  
  
  
  
  

  

 أcD �:�?0$ �45'� ا���bل و ��41رة 1D> ا�,�0$ظ �$�2$ء ؟   - أ
  

 .$ذا ?C5I2 اP�$�5�J .- .:'+$ت هbا ا��Aول ؟   - ب
  
 

 ؟  ] ب [ و  ] أ [ .$ ه6 49'� ذ��ل 9=�� ا�`:+� 1D> ا�����+-   - ت
 

 1D> ا�,�0$ظ �$�2$ء ؟  ] ب [ و  ] أ [ .$ ه6 )�رة ا�����+-   - ث
  
 

 أ,(U 9(=� ا�2$ل ا�E�./� T�$4$ص .- �gف 9=�� ا�`:+� 67 - أ  - 4
 ؟  ]ب [ و  ] أ [ ا�����+-  
 

 ؟  ]أ [ اG:; U=J i�5�J .�دود?� ا�����  - ب 
  

  ؟  ]أ [ ا)��ح إ��اء ?I2- .- ر���EF 87 ا�����  - 5     
 
 
 
 
 

2g+6   ر.c29  61 )�ام ا�����
  ر.61

6+2g   6+2g
65+g  

 <1D ا��4رة
 %ا�,�0$ظ �$�2$ء ب 

5.5  12  18.9  27.5  

49'� ذ��ل 9=�� 
  ا�`:+�

 %ب  

3.1  6.5  9.9  15.5  
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� ��� ����� ا�����  - 1��ا��2ف #�ا0/.*  ، أو   ]ب [ �*�()�� �'����  ]  أ [ #" ! �ن 
   pHا��2ف 

  
   : ]  أ [ 	� ا�����   -أ - 2
  

  40آ�'� ا��90 78  ا��6(�                                                  
�� ا��90      (= = ----------------------------- X 100  = ------------ X 100  =80 %  

  50                         ]  أ [ آ6'� ا��6(�                                
  
  

 786  ا��C                     �)6.7آ�'� ا�                              
�� ا�     (=7.C  = ----------------------------- X 100  = ------------ X 100  =12 %  

  50]                           أ [ آ6'� ا��6(�                                
  
  

 4 78  ا��E6C                    �)6آ�'� ا�                              
�� ا�     (=E6C  = ----------------------------- X 100  = ------------ X 100  =8 %  

  50]                           أ [ آ6'� ا��6(�                                
  
  

  : ]ب [ 	� ا�����        
  

 40آ�'� ا��90 78  ا��6(�                                                  
�� ا��90      (= = ----------------------------- X 100  = ------------ X 100  =40 %  

  100                         ]ب [ آ6'� ا��6(�                                
  
  

 7850  ا��C                     �)6.7آ�'� ا�                              
�� ا�     (=7.C  = ----------------------------- X 100  = ------------ X 100  =50 %  

  100]                           ب [ آ6'� ا��6(�                                
  

 7810  ا��E6C                     �)6آ�'� ا�                              
�� ا�     (=E6C  = ----------------------------- X 100  = ------------ X 100  =10 %  

  100]                           ب [ آ6'� ا��6(�                                
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�*  - ب    ���(F.ا�. �=*ت ا� �(= 9H.= E6ام ا������# "!"F�� ام ا������# J'H0 K'L *M�:  
  
  

  
  ر0'7 =   )ا��CRط ا�F.�اء ( ] أ [ #�ام ا�����          

  
  V.76 ) = ا��CRط ا�Uر#*ء ] ( ب [ #�ام ا�����         
  
  
   : �CM= �!��Z ا���Yل -أ- 3
  
 ه7 =)�� ا�.*ء ا�.��7M 78 ا����� K'L وزن ا����� L(" �"ا!� ذ��ل ا�(��� ���رة   

�.!"�(0 .  
  

  :��Z!� ا�M"رة K'L ا�ab`*ظ �*�.*ء       
  

 78 �6M���� �*�.*ء ��" ا=)F*ب ا�.*ء اYc=bا�0 7(/*  ���Zه� =)�� ا�.*ء ا�.�d0.   
  

  :E0 �2ل e �fa20"ول ا�.�6C*ت !��E6 أن  - ب   
  

  آ��ت ا�M"رة K'L ا�ab`*ظ �*�.*ء   E0 ا��90 إ�K ا�E6C  آ'.* �gh #�ام ا�����         
  آ��ت =�CM ا���Yل E0 ا��90 إ�K ا�E6C  آ'.* �gh #�ام ا�����        
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  �*���eع إ�K (  % 3.1=  ذات ا��Mام ا��0'7  ]أ[K'L ا����� =�CM ذ��ل ا��6�d   - ت   
  )ا�c"ول           

 
         �6�dذ��ل ا� �CM= ا����� K'L ] 76 ] ب.Cام ا��Mع (  % 9.9= ذات ا��e��*�  
  )ا�c"ول         

  
 % K'L =5.5 ا�ab`*ظ �*�.*ء ذات ا��Mام ا��0'7 ] أ [ #"رة ا�����  - ث  

  % K'L =18.9 ا�ab`*ظ �*�.*ء ذات ا��Mام ا�C.76 ] ب [ #"رة ا�����        
          ) *.mول دا"cا� Kع إ��e��*�(  

  
  ا�M"رة K'L ا�ab`*ظ �*�.*ء   -=�CM ا���Yل = =)�� ا�.*ء ا�M*�9 ���02*ص  - أ - 4
  

        ����'� ��  % 2.4=  5.5 – 3.1] = أ [ �*�()
  

        ����'� ��  % 9=  18.9 – 9.9] = ب [ �*�()
  

� ��� ����� ا�����  - ب   ��  rن  ه� ا=R`*ض =)�� ا�.*ء ا�M*�9 ���02*ص �/*] أ [ 
  #�ا0/* ر0'7 و #"رK'L */Z ا�ab`*ض �*�.*ء ��6`�        

  
� إ�*�8 ا��Y*ل إ�s`Z��8 */6 #"رZ] أ [ ��s8 ����� ا�����  - 5c! ظ �*�.*ء و*`�abا K'L */

 s`Z�Z 9 ���02*ص�*Mا�.*ء ا� ��(= */�.  

https://motamadris.ma/



